
Design 2 A / B / C – Triangular shawl

Size Approx. 80 x 220 cm 

Gauge: 16 sts and 22 rows = 10 x 10 cm in St 
st on size 5.5 mm needles.

St st: K on RS, p on WS. 

Slip garter selvage:

p last st.

Instructions: Shawl is worked from the point 
up. With shorter size 5.5 mm circular need-
le cast on 7 sts. Next WS row: Slip garter 
selvage, p5, slip garter selvage. Row 1 (RS): 
Slip garter selvage, M1R, k5, M1R, slip gar-
ter selvage = 9 sts. Row 2 (WS): Slip garter 
selvage, M1R, p7, M1R, slip garter selvage = 
11 sts. Row 3: Slip garter selvage, M1R, k8, 
M1R, slip garter selvage = 13 sts. Row 4: Slip 
garter selvage, M1R, p11, M1R, slip garter 

selvage = 15 sts. Cont in this manner, inc 1 
st at each end of every row until 351 sts are 
on the needle or until there is just enough 
yarn left to bind off. Change to longer cir-
cular needle as st count increases. Loosely 
bind off all sts on a RS row.

Finishing: Carefully weave in all ends. Pin 
piece to measurements and block. 

You will need 100 g of Lana Grossa Gomitolo Silkhair (65% superkid mohair, 
30% silk, 5% Merino wool; 800 m/100 g) in Brown/Mustard Melange 

(col 205) or 100 g in Grey/Brown Melange (col 202) or 100 g in Blue/Marine 
Melange (col 207). Size 5.5 mm circular needles, 80 and 120 cm long. 



Schematic for design 2A/B/C – Triangular shawl




